850

50

12000
150 3000 3000 3000 3000 150
= 050 pg < g 2 =
1 2\
@ 77ﬁ;; - - 7ﬁ_1; 2
=l 300 /300 = = 300
= 100 p=8wb (7928) MI6 L=450 = =
= T/E=-8wh (7974 = =
=| 250 e 50 |=
i 500
(©) S
\ TvA=Emb (7926) M16 L=450
== 5 WD B TEy ) o =
== 9 roh-tst Do) W16 L=45) I
fi&Z&fy b
(®) e
300
= 7=t 7o24) W16 L=450 =
= e T 150] | 1150 =
(%) it S | =t e
= F1 300 71 | 50050 0L 71—
100
150 5000 5000 150
TYh-kwt (7978)
M16 L=450 300x250 TYi-wb (7924) ERAN 1.
Be Byl 16 1450 250, A-D13 | 1760 |
1l 400 ]
o \ D6 el D10 6300
= = Ny
= f D10 9100 = VY cavy )=t BEEEREFc=2
= T VEL = S T - gk % : SD29GA
6-D10 o ﬁ 120194 1083ETHR| “H T : 50kN /of (E#)
= Y, §7+32 - 4 — I$4% R#No. TANo.
= TR D10 0300
f - o = P e :j(%"é
= — J[RRR—RINT R LWE 40408
— 100 1000 | 500 | [100 HE ] %@ | AN | B |NE
EBRAN - ERsEEN HLDHA11109B
F1% | Empmsex 130 | FGI1% %R 1 60 |f®&EA8 2020. 06. 22 B4 FERMTEERSH




